CLASS : 12th (Sr. Secondary) Code No. 5607
Series : S.S.-March/2022
Roll No. SET : A

COMPUTER SCIENCE
HT -1
PART -1
(sTrts o)
(Subjective Questions)
ACADEMIC/OPEN

[ &= wd sfush A ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77 : 21 g¢] [ g% : 40 (-1 : 20, AFHII : 20)
Time allowed : 21 hours] [ Maximum Marks : 40 (Part-I : 20, Part-II : 20)
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Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 8 and of Part-II are 20.

o U T A B G F 57 G979 7 AT § 4 a9 597 8 &

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 8 questions.

5607/(Set : A)/ | P.T.O.
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(2) 5607/(Set : A)
F97-Y5 7 qlle &1 @ AT 79 T4 #S TR T @ B G F-YAH % FI-IT G [0G)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T[0T @ 7 7 e, JIT B BHH AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FACGaH & & 4 @l g1/ 91 7 851

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SIfaRET @ o e T& A ST sleaEdgar & @ siv frar gav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTgar T To FIT-UT T 9T [ord)

Candidates must write their Roll Number on the question paper.

Gy 497 F AT 37 @ Y@ 98 GEa F o [ 9T U 7 T8l 8, qOer % IYUT 59
T 5 g 4 @ w@hwre T A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

() @4 geT et &

All questions are compulsory.
(i) HEF FIT & 37F 3B QT a9 TT 8

Marks of each question are indicated against it.
(iii) 3TY% FAT STEITAT &7 T

Your answer should be according to marks.

5607/(Set : A)/ |
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(3) 5607/(Set : A)
Fe: g7 FHE 1 @ 3 F G FF G 797 F0 99 T 97 ST 8

Attempt any two questions from Question Numbers 1 to 3. Rest are

compulsory.

1. FEFX M ¢ ? el & @ B gl H aUT B 4

What is a Constructor ? Explain any two types of constructors.

2. Ufash, UEde X Nides Fd AW & auH Hi 4

Explain Public, Private and Protected class members.

3. % FAH-FAEEn e e anfie & 4
T AR : TR, AR, SR
TR R

() Yo Ieg &,

(i) TRAT &I TOMT B,

(iti) FET TERT B (TEE, AerE, oRan)
Create a class-Classroom which includes :
Data Members : Length, Width, Height
Member functions :

(i) To assign initial values,
(ii) To calculate area,

(iii) To display information (length, width, area).

4. LAN 3R MAN ¥ o= faifu 3
Write the difference between LAN and MAN.

5607/(Set : A)/ | P.T.O.
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(4) 5607/(Set

5. T H uRwW w99 FE ol g 79 & HA< & aU I

Define Inheritance. Explain the concept of Base class and Derived class.

6. 7 4 &Y B 8 ?

How insertion takes place in a queue ?

7. SUAEAE & aiEm ke

Define Normalization.

8. I9 SO H UNHW [T I9 SSX H g% SaEX0 foray|

Define Web Browser. Write any one example of Web Browser.

5607/(Set : A)/ |
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CLASS : 12th (Sr. Secondary) Code No. 5607
Series : S.S.-March/2022

Roll No. SET : A
HY {5

COMPUTER SCIENCE
HAT - 11

PART - 11
(aEgfss 9%9)

(Objective Questions)

ACADEMIC/OPEN
[ = wd S A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FUF FT B A B G % 59 G799 § GRa §8 7 T F97 20 &

Please make sure that the printed pages in this question paper of Part-II are 7 in
number and it contains 20 questions.

o ghereff o1y T To FIT-UA T 9T @)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 98 GARGT FC A [ G797 {7 T Fel 8, YT F YU 39
T 7 g 4 arar w@hwe T8 RAr a3

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G [7397 -
General Instructions :

() @ g7 art &

All questions are compulsory.
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(2) 5607/(Set : A)
(i) 797 FH% 1 § 20 7% TG 597 &1 FAF 597 1 7% F &

Questions from 1 to 20 are objective type questions. Each question is of

1 mark.
[ a9 ]
[ Objective Type Questions ]
1. T% Haed & A9 oo & 99 B TEE R 1

A constructor has same name as that of its .................. .

2. CHH o, e H 3 SR A Fad B 1
@) >> (B) <<
< > (D)<
In CH++, oo, operator is also known as insertion operator.
@) >> (B) <<
< > (D) <
< TR w1y Reliege™ SR 2l 1
(A) o (B)
(&I (D) U

.................. is scope resolution operator.
(A) - (B)

(€ |l (D) M

5607/(Set : A)/ I
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(3) 5607/(Set : A)

4. OOP's & T &Y ................ 2l 1
Full form of OOP's is .......c...coeuiee.

5. % cooooeennn, Frem @ amEia 2 1
(A) FIFO (B) LIFO
(C) PILO (D) LILO
Stack is based on .............. principle.
(A) FIFO (B) LIFO
(C) PILO (D) LILO

6. TF T oo, R B &l 1
(A) 1 (B) 2
€ 3 (D) 4
There are .............c.c..... operations in stack.
(A) 1 (B) 2
€) 3 (D) 4

7. Th R¥E INF & 86T, oFR Iqh a9 ST ..., I B 1
A relation is in INF, if all underlying domains of relation contain ...................
values.

8. SUARATT voovveeeennn B HH HIA 2 1
(A) ugege
(B) Tuod
(C) RS
(D) STeI

5607/(Set : A)/ I P.T.O.
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10.

11.

12.

13.

(4)

Normalization minimizes ............ .

(A)
(B)
(€)
(D)

(A)

Attributes
Tuples
Redundancy
Updation

.......... SQL & e 7& ®

DCL (B) DBL
DDL (D) DML

......... is not a component of SQL.

DCL (B) DBL
DDL (D) DML

Full form of FTPis .............. .

% A S Jeas 7 o (STeTREsS) THE # e & [ @l M o, H

(€)

......... Fed Bl

foret (B) ed

BRI (D) WX

5607/(Set : A)/ I
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(5) 5607/(Set : A)

A system designed to prevent unauthorized access to a network is

called .............. .
(A) Bridge (B) Gateway
(C) Firewall (D) Router
14. I TEES H IP B TATT oo Bl 1

(A) FTT Mgl

(B) F<etHe Hemd
(C) FeHe PR
(D) F=e qEaT

In Internet terminology, IP means .............. .
(A) Internet Provider

(B) Internet Protocol

(C) Internet Procedure

(D) Internet Processor

15. HTML & 9% &7 ................ Bl 1
Full form of HTML is .............. .
16. 5l 39 U9 & T HTML &9 & T8 T .o 2| 1

(A) &S, TEed, HTML, Sl
(B) HTML, §8l, TEed, &8
(C) HTML, g€, TRed, arel
(D) §fEl, HTML, 88, eged

5607/(Set : A)/ Il P.T.O.
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(D)

17. ...

(A)

(6) 5607/(Set
............... is the correct sequence of HTML tags for a webpage.
Head, Title, HTML, Body
HTML, Body, Title, Head
HTML, Head, Title, Body

Body, HTML, Head, Title

........... & TR ) SIS B o
<a> (B) <b>
<br> (D) <bo>
................ tag makes the text bold.
<a> (B) <b>
<br> (D) <bo>

19. HTMLH &9 ..o, 2 &l

(A)

(B)

(C)

(D)

5607/(Set

a9 dfafeq
diUed ofer
&9 dfafeq &

Ble e} §

LA I
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(7) 5607/(Set : A)
The tags in HTML are ................ .
(A) Case-sensitive
(B) In upper case
(C) Not Case-sensitive

(D) In lower case

20. W H SRS H H T TR ..oovvnne 2l 1
(A) int exam [10];
(B) int exam;
(C) exam {20};
(D) array exam [15];
................. is the correct way of declaring an array.
(A) int exam [10];
(B) int exam;
(C) exam {20};

(D) array exam [15];

5607/(Set : A)/ I
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CLASS : 12th (Sr. Secondary) Code No. 5607
Series : S.S.-March/2022
Roll No. SET : B

COMPUTER SCIENCE
HT -1
PART -1
(sTrts o)
(Subjective Questions)
ACADEMIC/OPEN

[ &= wd sfush A ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77 : 21 g¢] [ g% : 40 (-1 : 20, AFHII : 20)
Time allowed : 21 hours] [ Maximum Marks : 40 (Part-I : 20, Part-II : 20)

ge-9= & AR # i ¥ : A1 (STEiS) w6 - (ﬁ%ﬁqﬂmaﬁtﬁwﬁ%nﬁ
% X B AU IO YR # @ 81 990 HOAFHL A B W Ied SR-gRas
% A far Som qon AR S o0 STl 1 U e W W RA SO oveiq aden wea
BN & % ger Q@ qdemel S qr-II & g% o R smem

-1 3 99T-0 § %A 8 U U9 qFHII % S99-T § Fo 20 97 &

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 8 and of Part-II are 20.

o U T A B G F 57 G979 7 AT § 4 a9 597 8 &

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 8 questions.

5607/(Set : B)/ | P.T.O.
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(2) 5607/(Set : B)
F97-Y5 7 qlle &1 @ AT 79 T4 #S TR T @ B G F-YAH % FI-IT G [0G)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T[0T @ 7 7 e, JIT B BHH AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FACGaH & & 4 @l g1/ 91 7 851

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SIfaRET @ o e T& A ST sleaEdgar & @ siv frar gav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTgar T To FIT-UT T 9T [ord)

Candidates must write their Roll Number on the question paper.

Gy 497 F AT 37 @ Y@ 98 GEa F o [ 9T U 7 T8l 8, qOer % IYUT 59
T 5 g 4 @ w@hwre T A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

() @4 geT et &

All questions are compulsory.
(i) HEF FIT & 37F 3B QT a9 TT 8

Marks of each question are indicated against it.
(iii) 3TY% FAT STEITAT &7 T

Your answer should be according to marks.

5607/(Set : B)/ |
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(3) 5607/(Set : B)
Fe: g7 FHE 1 @ 3 F G FF G 797 F0 99 T 97 ST 8

Attempt any two questions from Question Numbers 1 to 3. Rest are

compulsory.

1. % Fa-Faaed g e e i @ 4
S AR : o, ASE, SR
TR R
() gERR g 3,
(i) TRAT &I TOMT H,
(iii) FET TERA HEA (TE, DerE, oRan)
Create a class-Classroom which includes :
Data Members : Length, Width, Height

Member functions :
(i) To assign initial values,
(ii) To calculate area,

(iii) To display information (length, width, area).

2. Ufash, UEde X Mides Fd AW & aue Hi 4

Explain Public, Private and Protected class members.

3. HEFI M & ! el § TWE D e H qUT B 4

What is a Constructor ? Explain any two types of constructors.

4, SUAEATE S urEe ok 2

Define Normalization.

5607/(Set : B)/ | P.T.O.
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(4) 5607/(Set :

5. 39 SISO &l U fReT 39 9K & @ I ARy

Define Web Browser. Write any one example of Web Browser.

6. LAN 33X MAN # o= faifu
Write the difference between LAN and MAN.

7. TRRET i g ffaw 99 @ IR feiEe ™ & FE< F JUN H

Define Inheritance. Explain the concept of Base class and Derived class.

8. ¥ # ga %4 B 8 ?

How insertion takes place in a queue ?

5607/(Set : B)/ |
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CLASS : 12th (Sr. Secondary) Code No. 5607
Series : S.S.-March/2022

Roll No. SET : B
HY {5

COMPUTER SCIENCE
HAT - 11

PART - 11
(aEgfss 9%9)

(Objective Questions)

ACADEMIC/OPEN
[ = wd S A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FUF FT B A B G % 59 G799 § GRa §8 7 T F97 20 &

Please make sure that the printed pages in this question paper of Part-II are 7 in
number and it contains 20 questions.

o ghereff o1y T To FIT-UA T 9T @)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 98 GARGT FC A [ G797 {7 T Fel 8, YT F YU 39
T 7 g 4 arar w@hwe T8 RAr a3

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G [7397 -
General Instructions :

() @ g7 art &

All questions are compulsory.

5607/(Set : B/ I P.T.O.
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(2) 5607/(Set : B)
(i) 797 FH% 1 § 20 7% TG 597 &1 FAF 597 1 7% F &

Questions from 1 to 20 are objective type questions. Each question is of

1 mark.
[ a9 ]
[ Objective Type Questions ]
1. HTML# ............... PEME TR 1
................ is the paragraph tag is HTML.
2. HTML# &9 ................ 2 B 1
(A) Y dfafea
(B) iUed R ¥
(C) @9 Gffeq w&t
(D) BIC R |

The tags in HTML are ................ .
(A) Case-sensitive

(B) In upper case

(C) Not Case-sensitive

(D) In lower case

5607/(Set : B)/ I
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(3) 5607/(Set : B)

3. W &l EHIS & & TE TR ..o Bl
(A) int exam [10];
(B) int exam;
(C) exam {20};
(D) array exam [15];
................. is the correct way of declaring an array.
(A) int exam [10];
(B) int exam;
(C) exam {20};
(D) array exam [15];
4. TH PEFI B TH ..o, % M & TN ol

5. CH+H oo, SR HT g9 e o Fad Bl
) >> (B) <<
c > (D) <
In CHt, cooeeeiienna, operator is also known as insertion operator.
a) >> (B) <<
C > (D) <

5607/(Set : B)/ I
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(4) 5607/(Set :

A) :: (B)
€ (D) M

.................. is scope resolution operator.

(A) o (B)
€ (D) !
7. OOP's & T &Y ..o, B

Full form of OOP'SiS «ieevviiiiiinnnn. .

8. WFH .oovvrrnnnn, Frm ax e B
(A) FIFO (B) LIFO
(C) PILO (D) LILO
Stack is based on .............. principle.
(A) FIFO (B) LIFO
(C) PILO (D) LILO
9. RWFH oo, SR B &l
A) 1 B) 2
C) 3 D) 4
There are ..........ccceeuenn.. operations in stack.
(A) 1 (B) 2
(€) 3 (D) 4

5607/(Set : B)/ I
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(5) 5607/(Set : B)
10. T N9 INF H 81, R 366 a1 89 H ..o I B 1

A relation is in INF, if all underlying domains of relation contain ...................
values.

11, SEHARAMT ooveeeennnn. B HH HIA 2 1

(D) STeI
Normalization minimizes ............ ’
(A) Attributes
(B) Tuples
(C) Redundancy
(D) Updation
12, e, SQL &l &HqHe 78 &l 1
(A) DCL (B) DBL
(C) DDL (D) DML

............... is not a component of SQL.

(A) DCL (B) DBL
(C) DDL (D) DML
13. WWW Bl I &7 ..o Bl 1

Full form of WWW is .............. .

5607/(Set : B)/ Il P.T.O.

Downloaded from cclchapter.com



(6) 5607/(Set : B)

14. WAN&H Q0 &Y ... Bl 1
Full form of WAN is .............. .

15. FTP & T &Y ....cooveeee 3l 1
Full form of FTP is .............. .

16. T fed ot Aeas # oFiga (SFeliegss) g & I%4 & [Q S9/ T ©, @

............... Hed Bl 1
A) = (B) ed
(C) ®EE (D) WIK
A system designed to prevent unauthorized access to a network is
called .............. .
(A) Bridge (B) Gateway
(C) Firewall (D) Router
17. F<HC IEEH H IP B TATE oo Bl 1
(A) FTT Mgl
(B) Fetc i
(C) FeXHT TR
(D) FTIE THER

In Internet terminology, IP means .............. .
(A) Internet Provider

(B) Internet Protocol

(C) Internet Procedure

(D) Internet Processor

5607/(Set : B)/ I
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18. HTML & J% &7 ................ Bl
Full form of HTML is .............. .

5607/(Set :

19. 5E 39 39 & f HTML 370 &1 @& 5 oo 2

(A) &S, TSed, HTML, Sl
(B) HTML, §8l, ¢Eed, &8
(C) HTML, 88, T@cd, arel
(D) S, HTML, &8, <ged

.................... is the correct sequence of HTML tags for a webpage.

(A) Head, Title, HTML, Body
(B) HTML, Body, Title, Head
(C) HTML, Head, Title, Body
(D) Body, HTML, Head, Title

20. .o AT IRT H A BT B
®) <a>

..................... tag makes the text bold.

5607/(Set : B)/ I

(B)
(D)
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<b>

<bo>
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CLASS : 12th (Sr. Secondary) Code No. 5607
Series : S.S.-March/2022
Roll No. SET : C

COMPUTER SCIENCE
HT -1
PART -1
(sTrts o)
(Subjective Questions)
ACADEMIC/OPEN

[ &= wd sfush A ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77 : 21 g¢] [ g% : 40 (-1 : 20, AFHII : 20)
Time allowed : 21 hours] [ Maximum Marks : 40 (Part-I : 20, Part-II : 20)

ge-9= & AR # i ¥ : A1 (STEiS) w6 - (ﬁ%ﬁqﬂmaﬁtﬁwﬁ%nﬁ
% X B AU IO YR # @ 81 990 HOAFHL A B W Ied SR-gRas
% A far Som qon AR S o0 STl 1 U e W W RA SO oveiq aden wea
BN & % ger Q@ qdemel S qr-II & g% o R smem

-1 3 99T-0 § %A 8 U U9 qFHII % S99-T § Fo 20 97 &

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 8 and of Part-II are 20.

o U T A B G F 57 G979 7 AT § 4 a9 597 8 &

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 8 questions.

5607/(Set : C)/ | P.T.O.

Downloaded from cclchapter.com




(2) 5607/(Set : C)
F97-Y5 7 qlle &1 @ AT 79 T4 #S TR T @ B G F-YAH % FI-IT G [0G)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T[0T @ 7 7 e, JIT B BHH AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FACGaH & & 4 @l g1/ 91 7 851

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SIfaRET @ o e T& A ST sleaEdgar & @ siv frar gav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTgar T To FIT-UT T 9T [ord)

Candidates must write their Roll Number on the question paper.

Gy 497 F AT 37 @ Y@ 98 GEa F o [ 9T U 7 T8l 8, qOer % IYUT 59
T 5 g 4 @ w@hwre T A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

() @4 geT et &

All questions are compulsory.
(i) HEF FIT & 37F 3B QT a9 TT 8

Marks of each question are indicated against it.
(iii) 3TY% FAT STEITAT &7 T

Your answer should be according to marks.

5607/(Set : C)/ |
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(3) 5607/(Set : C)
Fe: g7 FHE 1 @ 3 F G FF G 797 F0 99 T 97 ST 8

Attempt any two questions from Question Numbers 1 to 3. Rest are

compulsory.

1. FEFX M ¢ ? el & @ B gl H aUT B 4

What is a Constructor ? Explain any two types of constructors.

2. Ufash, UEde X Nides Fd AW & auH Hi 4

Explain Public, Private and Protected class members.

3. UF FAH-FAEET I oy e anfee & ¢ 4

T R : T, ASE, SaR|

T G

() SRR 3 3,

(i) TRET B T B,

(iif) T TR FTA (TE, DTS, TRA)
Create a class-Classroom which includes :

Data Members : Length, Width, Height

Member functions :
(i) To assign initial values,
(ii) To calculate area,

(iii) To display information (length, width, area).

4. TRRET F uRam ffaw 99 a9 IR feEe ™ & FE<T H JUN H 3

Define Inheritance. Explain the concept of Base class and Derived class.

5607/(Set : C)/ | P.T.O.
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5. 7 7 399 34 A & ?

How insertion takes place in a queue ?

6. SUAEAIE H g e

Define Normalization.

7. 39 TSR Bl IRA [GRITI AT SS9 BN 0% IR [y

Define Web Browser. Write any one example of Web Browser.

8. LAN 3R MAN ¥ 3= fofau)
Write the difference between LAN and MAN.

5607/(Set : C)/ |
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CLASS : 12th (Sr. Secondary) Code No. 5607
Series : S.S.-March/2022

Roll No. SET : C
HY {5

COMPUTER SCIENCE
HAT - 11

PART - 11
(aEgfss 9%9)

(Objective Questions)

ACADEMIC/OPEN
[ = wd S A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FUF FT B A B G % 59 G797 § FRa §8 7 T F97 20 &

Please make sure that the printed pages in this question paper of Part-II are 7 in
number and it contains 20 questions.

o ghereff o1y T To FIT-UA T 9T @)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 98 GARGT T A [ G797 {7 T Fel 8, YT F YU 59
T 7 g 4 arar w@hwe T8 RAr a3

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G [7397 -
General Instructions :

() @ g7 art &

All questions are compulsory.

5607/(Set : C)/ I P.T.O.
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(2) 5607/(Set : C)
(i) 797 FH% 1 § 20 7% TG 597 &1 FAF 597 1 7% F &

Questions from 1 to 20 are objective type questions. Each question is of

1 mark.
[ a9 ]
[ Objective Type Questions ]
1. HTML® T &7 ..o Bl 1
Full form of HTML is .............. .
2. el 39 U9 & W HTML &9 &1 T8 B9 ooovvveee 2| 1

(A) &S, TSed, HTML, Sl
(B) HTML, 98I, eEed, &8
(C) HTML, 88, TBed, siel
(D) &€, HTML, 88, TEed

.................... is the correct sequence of HTML tags for a webpage.
(A) Head, Title, HTML, Body
(B) HTML, Body, Title, Head
(C) HTML, Head, Title, Body
(D) Body, HTML, Head, Title

< & THRE Bl S H o 1
(A) <a> B) <b>
(C) <br> (D) <bo>
..................... tag makes the text bold.
(A) <a> B) <b>
(C) <br> (D) <bo>

5607/(Set : C)/ Il
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(3) 5607/(Set : C)

4. HTML# ... EE T R 1
................ is the paragraph tag is HTML.

5. HTML® &9 ....occve.... B 1
A) B9 Gfafed
(B) diUed ofer
(C) 9 diafed -t
(D) ®Bie 3 |

The tags in HTML are ................ .
(A) Case-sensitive

(B) In upper case

(C) Not Case-sensitive

(D) In lower case

6. W H fSHASR HA B el TUH ..o 2 1
(A) int exam [10];
(B) int exam;
(C) exam {20};

(D) array exam [15];

5607/(Set : C)/ Il P.T.O.
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(4) 5607/(Set :
................. is the correct way of declaring an array.
(A) int exam [10];
(B) int exam;
(C) exam {20};

(D) array exam [15];

8. CH & i, R FHI FA AR T Fed &l
) >> (B) <<
€ > (D) <
In C++,iiiin, operator is also known as insertion operator.
) >> (B) <<
€ > (D) <
- T Y RSIge™ SR 2l
(A) - (B)
(O] (D) !

.................. is scope resolution operator.
(A) = (B)
(O] (D) !

5607/(Set : C)/ Il
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(5) 5607/(Set : C)

10. OOP's & T% & ................ 2l 1
Full form of OOP's is ...................

11, ®F oo, Frem W emeia 2 1
(A) FIFO (B) LIFO
(C) PILO (D) LILO
Stack is based on .............. principle.
(A) FIFO (B) LIFO
(C) PILO (D) LILO

12. ®RFH o R BAd 2 1
(A) 1 (B) 2
€) 3 (D) 4
There are .......cccevvnvennen. operations in stack.
(A) 1 (B) 2
€ 3 (D) 4

13. U% RASH INF H 8FT, SR 38D G ST 7 oo, Ieg 1
A relation is in INF, if all underlying domains of relation contain ...................
values.

14, STHAEANT oo P HH HIA 2 1
(A) e
(B) <Ud
(C) R
(D) S

5607/(Set : C)/ Il P.T.O.
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15.

16.

17.

18.

19.

(6)

Normalization minimizes ............ .

(A)
(B)
(€)
(D)

(A)

Attributes
Tuples
Redundancy
Updation

.......... SQL & e 7& ®

DCL (B) DBL
DDL (D) DML

......... is not a component of SQL.

DCL (B) DBL
DDL (D) DML

Full form of FTPis .............. .

% A S Jeas 7 o (STeTNEsS) THE # e & [N @l WM o,

(€)

......... Fed Bl

foret (B) ed

BRI (D) WX

5607/(Set : C)/ Il
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(7) 5607/(Set : C)

A system designed to prevent unauthorized access to a network is

called .............. .
(A) Bridge (B) Gateway
(C) Firewall (D) Router
20. T TEEA F IP B HAAT oo Bl 1

(A) FTT Mgl

(B) F<etHe Uemd
(C) FeHe UHPR
(D) F=e qEaT

In Internet terminology, IP means .............. .
(A) Internet Provider

(B) Internet Protocol

(C) Internet Procedure

(D) Internet Processor

5607/(Set : C)/ I
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CLASS : 12th (Sr. Secondary) Code No. 5607
Series : S.S.-March/2022
Roll No. SET : D

COMPUTER SCIENCE
HT -1
PART -1
(sTrts o)
(Subjective Questions)
ACADEMIC/OPEN

[ &= wd sfush A ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77 : 21 g¢] [ g% : 40 (-1 : 20, AFHII : 20)
Time allowed : 21 hours] [ Maximum Marks : 40 (Part-I : 20, Part-II : 20)

ge-9= & AR # i ¥ : A1 (STEiS) w6 - (ﬁ%ﬁqﬂmaﬁtﬁwﬁ%nﬁ
% X B AU IO YR # @ 81 990 HOAFHL A B W Ied SR-gRas
% A far Som qon AR S o0 STl 1 U e W W RA SO oveiq aden wea
BN & % ger Q@ qdemel S qr-II & g% o R smem

-1 3 99T-0 § %A 8 U U9 qFHII % S99-T § Fo 20 97 &

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 8 and of Part-II are 20.

o U T A B G F 57 G979 7 AT § 4 a9 597 8 &

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 8 questions.
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(2) 5607/(Set : D)
F97-Y5 7 qlle &1 @ AT 79 T4 #S TR T @ B G F-YAH % FI-IT G [0G)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T[0T @ 7 7 e, JIT B BHH AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FACGaH & & 4 @l g1/ 91 7 851

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SIfaRET @ o e T& A ST sleaEdgar & @ siv frar gav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTgar T To FIT-UT T 9T [ord)

Candidates must write their Roll Number on the question paper.

Gy 497 F AT 37 @ Y@ 98 GEa F o [ 9T U 7 T8l 8, qOer % IYUT 59
T 5 g 4 @ w@hwre T A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

() @4 geT et &

All questions are compulsory.
(i) HEF FIT & 37F 3B QT a9 TT 8

Marks of each question are indicated against it.
(iii) 3TY% FAT STEITAT &7 T

Your answer should be according to marks.
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(3) 5607/(Set : D)
Fe: g7 FHE 1 @ 3 F G FF G 797 F0 99 T 97 ST 8

Attempt any two questions from Question Numbers 1 to 3. Rest are

compulsory.

1. % Fa-Faaed g e e i @ 4
S AR : o, ASE, SR
TR R
() gERR g 3,
(i) TRAT &I TOMT H,
(iii) FET TERA HEA (TE, DerE, oRan)
Create a class-Classroom which includes :
Data Members : Length, Width, Height

Member functions :
(i) To assign initial values,
(ii) To calculate area,

(iii) To display information (length, width, area).

2. Ufash, UEde X Mides Fd AW & aue Hi 4

Explain Public, Private and Protected class members.

3. HEFI M & ! el § TWE D e H qUT B 4

What is a Constructor ? Explain any two types of constructors.

4. T 7 G99 &Y B 8 ? 2

How insertion takes place in a queue ?

5607/(Set : D)/ | P.T.O.
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(4) 5607/(Set :

5. SRR H aRem fakau

Define Normalization.

6. I9 FGSR Bl IR [RITI IT FAS9R H & IR [y

Define Web Browser. Write any one example of Web Browser.

7. LAN 3R MAN ¥ o= faifu
Write the difference between LAN and MAN.

8. =eReT & g fafgw I T oiR fEiEs &9 & HAT & JUH B

Define Inheritance. Explain the concept of Base class and Derived class.

5607/(Set : D)/ |
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CLASS : 12th (Sr. Secondary) Code No. 5607
Series : S.S.-March/2022

Roll No. SET : D
HY {5

COMPUTER SCIENCE
HAT - 11

PART - 11
(aEgfss 9%9)

(Objective Questions)

ACADEMIC/OPEN
[ = wd S A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FUF FT B A B G % 59 G797 § FRa §8 7 T F97 20 &

Please make sure that the printed pages in this question paper of Part-II are 7 in
number and it contains 20 questions.

o ghereff o1y T To FIT-UA T 9T @)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 98 GARGT T A [ G797 {7 T Fel 8, YT F YU 59
T 7 g 4 arar w@hwe T8 RAr a3

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G [7397 -
General Instructions :

() @ g7 art &

All questions are compulsory.
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(2) 5607/(Set : D)
(i) 797 FH% 1 § 20 7% TG 597 &1 FAF 597 1 7% F &

Questions from 1 to 20 are objective type questions. Each question is of
1 mark.

[ a9 ]

[ Objective Type Questions ]

Full form of FTP is .............. .

2. T% Red S Jeas § oFRRd (STSTeRETS) @HE ® et & MY a9 @ T 8, &
............... Fed B 1

(A) fser (B) ded

(C) SREE (D) WX

A system designed to prevent unauthorized access to a network is

called .............. 5
(A) Bridge (B) Gateway
(C) Firewall (D) Router
3. ITET =Gl H IP B FAAT o Bl 1

(A) FTLAT HiaEe}
(B) gIAE M
(C) FEXIE MK
(D) §TE AEET

5607/(Set : D)/ I
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(3) 5607/(Set : D)

In Internet terminology, IP means .............. .

(A) Internet Provider
(B) Internet Protocol
(C) Internet Procedure
(D) Internet Processor
4. HTML&H T4 &Y ... Bl
Full form of HTML is .............. .
5. Rl 99 U9 & fU HTML &% & &l T .ooveeneeen. 2l
(A) 28, e, HTML, Sl
(B) HTML, dfSl, @, 88
(C) HTML, B8, eEe, Sel
(D) &SN, HTML, 88, eRed
.................... is the correct sequence of HTML tags for a webpage.
(A) Head, Title, HTML, Body
(B) HTML, Body, Title, Head
(C) HTML, Head, Title, Body
(D) Body, HTML, Head, Title
6. oo & TR H A BT
(A) <a> (B) <b>
(C) <br> (D) <bo>
5607/(Set : D)/ I
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(4) 5607/(Set : D)
..................... tag makes the text bold.

(a) <a> (B) <b>
(C) <br> (D) <bo>

The tags in HTML are ................ .
(A) Case-sensitive
(B) In upper case
(C) Not Case-sensitive
(D) In lower case
9. W &l FFA HA & TEl TR ..o, 2l 1
(A) int exam [10];
(B) int exam;
(C) exam {20};

(D) array exam [15];

5607/(Set : D)/ I
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(5) 5607/(Set : D)
................. is the correct way of declaring an array.
(A) int exam [10];
(B) int exam;
(C) exam {20};

(D) array exam [15];

A constructor has same name as that of its .................. .

11. C++ ¥ ..., R H T0I SR A F&d ol 1
) >> (B) <<
€ > (D) <
In C++, i operator is also known as insertion operator.
) >> (B) <<
€ > (D) <
12, e, Y Refiegee St 2 1
A :: (B)
(O] (D) !

.................. is scope resolution operator.

A :: (B)
(S| (D) !
5607/(Set : D)/ Il P.T.O.
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13.

14.

15.

16.

17.

(6) 5607/(Set :

OOP's & T% &Y ................ Bl

Full form of OOP's is .......c.c.coeuiee.

RE oo | o ameRa &

(A) FIFO (B) LIFO
(C) PILO (D) LILO
Stack is based on .............. principle.

(A) FIFO (B) LIFO
(C) PILO (D) LILO
VEH oo, R B &l

(A) 1 (B) 2

€ 3 (D) 4
There are .............c.c..... operations in stack.

(A) 1 (B) 2

€) 3 (D) 4

Teh R INF H 81T, SFR 38 @ ™9 § ... Ieg
A relation is in INF, if all underlying domains of relation contain ..............
values.

SILIES (s AR B HH HIA 2

(A) ugege

(B) Tuod

(C) RES

(D) STeI

5607/(Set : D)/ I
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(7) 5607/(Set : D)
Normalization minimizes ............ .
(A) Attributes
(B) Tuples
(C) Redundancy
(D) Updation
1 £ S SQL & F¥IHe 78 Bl 1
(A) DCL (B) DBL
(C) DDL (D) DML

............... is not a component of SQL.

(A) DCL (B) DBL
(C) DDL (D) DML
19. WWW &l I &Y ... Bl 1

Full form of WAN is .............. ,

5607/(Set : D)/ I
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